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1. Poab mucummiannbl «Ilpodeccuona/ibHasi MOATOTOBKA HA AHIVIMIICKOM fi3bIKe>» B () OPMHUPOBAHNHU KOMIIeTe HIMI BBIITyCKHUKA:

. I HAMKATODEL 10CTHIKe HHsl KOMIIE Te HIil CocraBasiomue pe3yJbTaTOB 0CBO€eHHS (1€ CKPHITOPBI
JJ1e MeHT 00 pa3o BaTeIbHOI c Koxn HI PbI O 1T KOMITe T € HIpi)
NMPOrpamMMblI (IMCHHILTHHA emectp | komneTeHunn | HaumeHoBaHHe KoMIeTeHIMH
porp (men ’ o o Koxa HaumMe HOBaHHe MHIAHKATOPA
npakruka, 'MA) Kon HanmeHOBaHue
HHIHKATOpa J0CTH:KE HUSI
Brazeer ONBITOM CTPYKTYpHUPOBaHUS H
odopmIeHUS CTHOTO COOOIIeHMS Ha.
VK(Y)-4.6B1 | °%oP y ’
[pEe3eHTALNH JOKIa/1a Ha PO (HeCCHOHAIBHY IO
JleMOHCTpHpPYET cIOCOOHOCTh
TeMy Ha HHOCTPAHHOM S3bIKE
BBICTYTIATh C JOKJIAJOM Ha
HMHOCTPAHHOM $I3bIKE Ha
N.YK(VY)-4.6 P ‘VYMeerT JIOTHIHO, MO C/IeI0BATAILHO U
NpodeCcCHOHATbHYIO TEMy, OTBEHaTh VK(Y)-4.6Y1 apryMEHTHPOBAHO BBIPAXKaTh MbICIIH Ha
Ha BOIPOCBHI, NOUICPIKUBATD ’ HWHOCTPAHHOM SI3bIKE Ha PO (HeCCHOHATEHY IO
Crnocoben OCYIIECTBIATD JICKY CCHIO TeMy, IeTIaTh BBIBOJIbI
ACIOBYI0 ~ KOMMYHMKAallMIO B 3HaeT 0CHOBBI CTPYKTYPHPOBaHUS IOKIAa U
Ipodeccuonansuas YCTHOM U MNCBMEHHOM (hopMax VK(Y)-4.631 I10/ITOTOBKH IPE3EHTAlMH Ha ”HOCTPAaHHOM
MMOJArOTOBKA Ha aHTJIMHCKOM 5,6,7,8 YK(VY)-4 Ha TOCYJapCTBEHHOM SI3BIKE ’ A3bIKE, IPUHATHIX B HAY YHOM MEXITy Hapo AHOM
SI3BIKE Poccuiickoit  ®epepauyu  u cpene
HHOCTPAHHOM(-BIX) 3bIKE(-aX ) BrazieeT ONBITOM HCTIOJIB30 BaHKS HHOSI3BIYHBE
VK(Y)-4.7BI JIEKCHKO-I'PaMMaTH4eCKiX CTPYKTyp U
’ po (hecCHOHATHHO-OpUECHTHPO BAHHOM
JleMOHCTpHpYeT CIOCOOHOCTH e MHHO O IH
KOPPEKTHOTO HCIIOJIb30BaHUS P
CKCHKO- I P AMMATHICCKIX CT " YMeeT KOppeKTHO HCTIONIb30BAaTh NHOSBBIYHbIC
N.YK(Y)-4.7 p PYKTYP JIEKCHKO-T'PaMMaTHIeCKHE CTPYKTYPBI K
npodeccroHatpHo-opueHTpoBanHyo | YK(Y)-4.7Y1
o podeccHoHAIBHO-OPUEHTUPO BAHHYIO
TEPMHUHOJIOTHIO B CBOEH TOPMEEOIOTHIO
Ipo(eCcCHOHATBHOM e TENbHOCTH
3HaeT 0a30BYI0 JIGKCHKY U IIPO(heCCHOHATBHO-
YK(VY)-4.631 OPHUEHTUPOBAHHYIO TEPMHUHOJIOTHIO Ha
WHOCTPAHHOM SI3bIKE
2. Tloka3zaTteju M MeTO/IbI Olle HUBAHUS
IlnaHupyeMble pe3yJibTaThl 00yYe HUS O JMCIHILIHHE Konx nnpukaropa HauveHoBaHMe pa3ielia IUCIUILIHHBI MeToabl 0Ll HHBAHUS
Kon Haume HOBaHMe /10 CTHIKEe HUSI (oue HOYHbIE Me POTPUSITHS)
KOHTPO.J1HpyeMOoii
KOMIIE Te HI[HH
(WM ee 4acTH)
PA-1 OCyIIeCTBIATH KOMMY HUKAllMK HA HHOCTPAHHOM $I3bIKE B TTPO (peCCHOHATHHOM Pasznen 1. OcHOBBI 2JIeKTpOHUKH (5 cemecTp) [IpesenTanus
chepe Paspen 2. [IpuMeHeHNne ONepallMOHHBIX Y CHIIMTENCH Pabora B MasbIX rpymmax
(6 cemecTp)
H.YK(Y)-4.6 Pasnen 3. Lludposas aekTpoHnKa
NYK(Y)-4.7 - Hop p
(7 cemectp)
Paznen 4. Memuunckoe 000pyoBaHHE
(8 cemecTp)
PJI-2 PemaTs np odeccnoHanbHBIE 33191 Ha HHOCTPAHHOM SI3BIKE N.YK(Y)-4.6 Paznen 1. OCHOBBI 2JIeKTpOHHKH (5 cemecTp) TectupoBanue




KoHnTposbHas paboTa
Pa6oTa B ManbIX rpymmax

N.YK(Y)-4.7 Pazpen 2. IIpuMeHeHHe ONIepaiOHHBIX yCHIATENeH
(6 cemecTtp)
Paspen 3. Ludposast anekrpoHrKa
(7 cemectp)
Paznen 4. Memuuuuckoe 060py0BaHue

(8 cemecTp)

P13

Ipe3eHTOBATH M 3aIMINATH PE3YIIHTATH KOMIUIEKCHO i HHIKEHEPHON
JIeSITENbHOCTH HA MHOCTPAHHOM SI3bIKE

Pazpmen 1. OcHOBBI 2JIEKTPOHUKH (5 cemecTp) [IpesenTanus
Pasnen 2. IIpuMeHeHNe OTepalliOHHbIX Y CHINTENEH
(6 cemectp)

Paspen 3. Hudposas 31eKTpoOHIKA
(7 cemectp)

Pazmen 4. Memuuunckoe 000pyroBaHHe

(8 cemecTp)

IYK(Y)-4.6
WYK(Y)-4.7

3. IlIkaja oueHuBaHus

HOp?IZIOK OpraHu3alluu OLCHHWBAaHUA PC3YJIILTATOB 06y‘-ICHI/I$I B YHUBCPCUTCTC PCIIIAMCHTUPYCTCA OTACIIbHBIM JIOKAJIBHBIM HOPMATHBHBIM AaKTOM —
«Cucrema ornieHUBaHUs pe3yabTaToB 00ydeHUsi B TOMCKOM moJuTexXHU4YeckoM yHuBepcuTere (Crucrema oneHuBaHus)» (B JCHCTBYIOIICH PEIaKIIUN).
Hcnionbiyercs OaulbHO-PEHTHUHIOBAsE CHCTEMa OLIGHHWBAHHS pe3ylbTaToB oOydeHus. WToroBas oueHka (TpaJuLIMOHHAs W JIUTEpHAs) MO BUIAM
yuebHoi nestenpHOCTH (M3ydeHue mucuumnH, YHWUPC, HUPC, kypcoBoe mNpOeKTHpOBAHWE, MPAKTUKH) OMPEACNIeTCs CyMMOW OauioB 1O
pe3yabTaTaM TEKYIero KOHTPOJISI M MPOMEXYTOUHOM aTTecTaluu (MTOroBasi peUTHUHTOBAs OlleHKa - MakcuMyM 100 6amioB).

Pacnipenenenrie OCHOBHBIX M JIOMOJHUTENBHBIX Oa/UIOB 3a OLIEHOYHBIE MEPONPUATHS TEKYIIETO KOHTPOJII M MPOMEXKYTOYHOW AaTTeCTalluH
YCTaHaBJIMBACTCA KaJICH IaPHBIM peﬁTHHF-HHaHOM JUCHOUITIINHBI.

PCKOMGHIIyeMaSI mKajaa 1A OTACIABHBIX OIICHOYHBIX MepOHpI/IﬂTI/Iﬁ BXOJHOI'O U TCKYLICTO KOHTPOJIA

00yue Hust

% BBINOJIHE HUSI CooTBeTcTBHE
o Omnpenenenne oneHKU
32 aHUS TpaJaUIHOHHOM 011e HKe
90%-+100% «OtmaHOY» OmmyHOe MOHMMaHHE IpeMeTa, BCECTOPOHHUE 3HAHHS, OTIHYHBIE YMEHHA U BIIaJICHUE OIBITOM IPAaKTUUECKOH AesITeNbHOCTH,
He0OX0MMBIE pe3ybTaTel 00ydeHHs COPMHUPOBAHBI, UX KAYECTBO OLIEHEHO KOJMUECTBOM 0ajuioB, OJM3KUM K MaKCUMAJIbHOMY
70% - 89% «Xopo1o» JlocTaToYHO MOJIHOE MOHMMAHHUE PEMETa, XOPOIINe 3HAHNSA, YMEHHUS U OTBIT NPAKTHICCKOH AeSTEIHHOCTH, HEOOX0UMBIE Pe3yIbTaThl
00y4eHus copMHUPOBAHEI, KAYECTBO HM OAHOTO U3 HUX HE OLCHEHO MUHUMAaJIbHBIM KOJIYECTBOM 0ayuioB
55% - 69% «Y IOBILY Ipuemnemoe MOHUMaHHUE IpeMETa, yIOBICTBOPUTEIbHBIE 3HAHHS, YMEHHS U OIBIT MPAKTUUECKOH NEeATeTbHOCTH, HEOOXOANMBIE PE3yIbTAThI
00y4eHus copMHUPOBAHBL, KAYECTBO HEKOTOPHIX M3 HUX OI[CHEHO MUHHMAIBHBIM KOJITYE CTBOM 0allioB
0% - 54% «Heynosmy» PesynbTaThl 00y4eHUs HE COOTBETCTBYKOT MUHHUMAIILHO JJOCTATOYHBIM TPEOOBAHUSM
[llkana st OLIEHOYHBIX MEPONIPUSITHH 3aueTaa
CTreneHsn
cc¢ opMupoBaHHOCT) CooTBeTcTBHE
Bana " OnpenesneHue oueHKU
pe3yJbTaToB TpajiuLMOHHOM OLle HKe




90% + 100% 90 + 100 «O1TmuHO» OmmyHOe MOHMMAaHUE IPEAMETa, BCECTOPOHHME 3HAHMS, OTIMYHbIE YMEHUSA U BIAJCHUE ONBITOM IPAKTUUECKOU NEATEIbHOCTH,
HeoOX0oMMBIE pe3yJsbTaThl 00ydeHNns cOPMUPOBAHBI, HX KAYECTBO OIICHEHO KOJMIECTBOM 0aJIIOB, OJM3KMM K MaKCHMAJILHOMY

70% + 89% 70 =89 «Xopo1io» JlocTtatouHO MOJHOE TOHUMAaHHKE IPeMETa, XOPOUINE 3HAHUS, YMEHHUS M OTBIT IPAKTHUECKOM JNeITeIbHOCTH, HEO0OX0MMBbIE
pe3ysbTaTel 00y4eHHs chOPMHUPOBAHEI, KAYSCTBO HU OJHOTO M3 HUX HE OIIGHEHO MHHUMaJbHBIM KOJMIECTBOM 0auioB

55% +69% 55 +69 «Y IOBIL» IpuemieMmoe MOHNMaHNUE IPEMETa, yIOBICTBOPUTENBHBIC 3HAHUS, YMEHHS U OTIBIT IIPAKTHIECKOH NeITeIbHOCTH, HEOOX0aMMBIe
pe3ysbTaTel 00ydeHns chOPMUPOBAHBI, KAYECTBO HEKOTOPHIX U3 HUX OICHEHO MUHUMAJILHEIM KOJMYECTBOM 0auioB

55% +100% 55 =100 «3a4TeHO» Pe3ynpTatel 00y4eHHUS] COOTBETCTBYIOT MHHUMAIBHO JOCTATOUHBIM TpeOOBaHUAM

0% =+ 54% 0+54 «Heynosmy/ PesynbTaThl 00y4YeHUS HE COOTBETCTBYIOT MHHUMAIBHO JOCTATOYHBIM TPEOOBAHUAM

«He 3auteno»

4. TlepeueHb TUMOBBIX 3aJaHUI

OneHoYHbIEe Meponpus THsI

Ilpumepbl THUNOBBLIX KOHTPOJIbHBIX 3a1aHUM

1. TectupoBaHue

1.

Bomnpocsr:
Paznea 1.

Classify each of the following components as passive or active: resistor; bipolar transistor; capacitor; battery;
transformer; field-effect transistor; inductor. Draw its symbols.

2. Draw the sinusoidal signal. What is the amplitude if it is known that Vrys equals 220 V? How can we calculate the
average voltage?

3. What is the frequency of a signal if the period is equal to 1 ms.

4.  What does the term “phase difference” mean? Explain it with the help of waveforms.

5. Write the expression for Ohm’s law.

6. Kirchhoff’s current law and Kirchhoff’s voltage law. Explain them by using a simple circuit.

7. Write the relationship between the current flowing through and the voltage across the inductor.

8. Three fixed resistors are connected in parallel. Calculate the total equivalent resistance Ryp of the parallel circuit.

9. Resistors R1 and R2 are connected in series to input direct voltage source. If the input voltage is 15V, and the resistance
R1 =2-R2, what is the voltage across the resistor R2?

10. Time constant. What does it mean? Find time constant for CR- and LR-circuit.

11. Give the circuit of CR low-pass filter and its frequency response.

12. Draw and explain V-I characteristics of a PN junction diode.

13. Explain the abbreviations: FET, BJT, KVL, KCL.

Test#2

Please, choose one variant as an answer for each question:

1. ADC voltage
A) rises and falls
B) is a sinewave
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C) remains constant
D) is an audio waveform

2. ImA is equal to:
A) 0.001A

B) 0.00001A

C) 0.01A

D) 0.1A

3. If a 10k resistor is placed across a 10v supply, the current will be:
A) 10mA

B) ImA

C) 0.0lmA

D) 0.1mA

4. If a small value of capacitance is connected in parallel with a large value, the combined capacitance will be:
A) The same

B) Higher

C) Lower

5. A 10k resistor in parallel with 10k produces:
A) 10k

B) 5k

C) 20k

D) Cannot be determined

Two 3v batteries are connected as shown. The output voltage is:
A) 3v

+ +
o [—IFE—
O) 6v v v
7. The closest value for this combination is:
A) 4k7 o
B) 2k3
[ 1
C) %4 m
[ 1
8. To obtain a higher value of resistance, resistors are connected in:
A) Reverse

B) Forward




OneHoYHbIe Meponpus TUs

Ilpumepbl THUNOBBLIX KOHTPOJIbHBIX 3a1aHUM

C) Parallel
D) Series

9. The direction of conduction for a diode is:

A

—— = |}

—= == == |c
A B C

10. Name three terminals of a bipolar junction transistor
A) Collector Bias Omitter

B) Base Collector Case

C) Emitter Collector Bias

D) Collector Base Emitter

Pa3znea 2.

1.  What does the term ‘operational amplifier’ mean?

2. What general properties of op amp do you know?

3. Draw the amplitude curve of an op amp. How can we calculate the open-loop voltage gain?

4. What will be the output voltage swing if the voltage drop in the components of the op amp output circuits is 1 volt for
+15-V supply?

5. Draw the equivalent circuit of an op amp.

6. The op amp has an input resistance r;,, =990 kQ2, has a voltage gain A of 1000, and an output resistance r,,, = 100 Q. If
the amplitude of the e.mf. (electromotive force) of the sinusoidal source, Vg, is 2mV, and the source resistance
Rg =10 kQ, what is the amplitude of the voltage V, across the load resistance R, = 1 kQ?

Pa3znea 3.

1. Explain the difference between analog and digital signal.

2. Draw the symbols of elementary logic gates.

3. Show how a power source, a lamp and a number of switches can be used to represent the following logical functions: a)
L=A-B-C;b)L=A+B+C;c)L=(A-B)+(C-D);d)L=A @D B.

4. Sketch the truth table of a three-input NAND gate.

5. Sketch the truth table of a three-input NOR gate.

6. What symbols are used in Boolean algebra to represent the functions AND, OR, NOT and Exclusive OR?

7. Write the function of a three-input NOR gate as a Boolean expression.

8. What is the difference between combination and sequential logic?

9. Convert the following binary numbers into decimal: 1100, 110001, 10111.
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10.
11.

12.

13.

14.

Convert the following decimal numbers into binary: 56, 132, 67, 5.625.
A single-input trigger that goes into the opposite state with each pulse is called a flip-flop:
a) D —trigger b)RS —trigger c)T —trigger d)JK — trigger
Which gate only has an output of 1 if both inputs are 1?

a) AND b)OR c¢)NOR d) NAND

What main elements does the structure scheme of ADC consist of?

a) Comparator, Approximation Register, Sample/Hold

b) Approximation Register, Trigger, Encoder

¢) Approximation Register, Trigger, Encoder

d) Comparator, Counter, Trigger

What is the initial state of the trigger?

a) 1

b) 0

¢) Undefined andis a random variable

d) Depends on current potentials and applied logic

Paznea 4.

1.

The branch of medicine that deals with the provision and use of artificial devices such as splints and braces is
a) prosthetics

b) orthotics

¢) laproscopic

d) augmentative communication

The frequency range of ECG is _
a) 0.05-150 HZ

b) 500-1500 Hz

¢) 5-500 kHz

d) 0.5-150 MHz

The main design feature of pregelled disposable electrodes which helps to reduce the possibility of artefacts, drift and
baseline wandering is _____

a) low absorbency buffer layer with isotonic electrolyte

b) high absorbency buffer layer with isotonic electrolyte

¢) high absorbency buffer layer without isotonic electrolyte

d) low absorbency buffer layer without isotonic electrolyte
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4. Recording electrical activities associated with heart is known as
a) EEG
b) EOG
c) EMG
d) ECG

5. Before placing the electrodes the skin should be
a) wet
b) dry
¢) hairy
d) oily

6. Blood cell counters, operating on the principle of conductivity change, which occurs each time a cell passes through an
orifice, are generally known as
a) optical method
b) electrical conductivity
¢) coulter Counter
d) microscopic method

[Ipesenrtanus

TeMbl pe3eHTaluii:

Paznmea 1.

1. Signals

2. Fixed resistors vs. Variable resistors
3. Potentiometers

4.  Wire-wound resistors

5. Film resistors

6. SMT-resistors

7. Avalanche Diode and Tunnel Diode
8. Photodiode

9. Light Emitting Diode

10. Varicap Diode
11. Schottky Diode
12. Zener diode

Paznean 2.
1. Operational amplifier in electronics systemdesign
2. Summing amplifiers
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The differential amplifier
Instrumentation amplifier
Active filters

Square wave generator
Triangular wave generator
Crystal-controlled generator
. Sine wave oscillator

10. LC oscillator

11. Precision current sources
12. Adjustable Voltage References
13. Photocell Amplifiers

© NG AW

Pa3znea 3.

1. Algebraic simplification
2. Binary quantities and variables
3. Boolean algebra

4. Boolean algebraic manipulation
5. Combinational logic
6. Karnaugh maps

7. Logic gates

8. Logic families

9. Number systems and binary arithmetic
10. Numeric and alphabetic codes

Paznen 4.

1. Cardiac Engineering

2. Physiological Systems Modeling

3. Brain-Machine Interfaces

4. Perspectives on Neural Engineering

5. Wearable Biomedical Sensors

6. Biomedical and Health Informatics

7. Surgical Robotics

8. Novel Biomaterials Resonant converters

9. Genetic Engineering & Synthetic Biology
KoxTpombHas pabota Bomnpocsr:

Paznea 1.

1. Time constant. What does it mean? Find time constant for CR- and LR-circuit.
2. Give the circuit of CR low-pass filter and its frequency response. Explain the curve.
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N ok

9.

In a series RC circuit, 12 Vi) is measured across the resistor and 15 Vi) is measured across the capacitor. Find the
r.m.s source voltage.

A 20 kHz sinusoidal voltage is applied to a series RC circuit. What is the frequency of the voltage across the resistor?
The frequency of the voltage applied to a series RC circuit is decreased. How does the impedance of this circuit changed?
Draw the frequency response of a high-pass filter. Explain how to find the cut-off frequency.

An RC low-pass filter consists of a 110 Q resistor and a 0.002 pF capacitor. The output is taken across the capacitor.
How can we find the circuit’s cut-off frequency?

An RC high-pass filter consists of an 8.2 kQ resistor. What is the value of C so that impedance X is ten times less than R
at an input frequency of 12 kHz?

A sinusoidal voltage with a peak-to-peak value of 36V is applied to an RC low-pass filter. If the reactance at the input
frequency is zero, what is the output voltage?

10. What is the difference between Pass Band and Stop Band?

Pazngen 2.
1. Design the adjusted gain inverting amplifier. Determine the output voltage range.
2. Design the two-input inverting adder. Derive an expression for the output voltage in terms of the feedback resistances
and input voltage.
3. What does the term ‘weighting’ mean when applied to an adder?
4. Design a three-input inverting adder. Choose components to get V. =-3-V, —10-V, =V, if R, =33kQ. Suggest a
suitable value of the resistor that is series connected to the op-amp noninverting input.
5. Problem 1:
Given:
R, = 10kQ
V1 R1 R4 R, = 20kQ
—1L
—_H Ry = 7.5k0
R2 > R4 = 100xQ2
V2 o_:|_‘_<[2 . Vi=01V
3 o Vo=-0.1V
R3 Vout Find:
VOUT’ IOUf
o 0
€L
6. How are the feedback resistors determined for an adder? Draw the diagrams for the explanation of the principle of

operation of the inverting adder.

Paznen 3.
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—_—

Explain the difference between analog and digital signal.
Show that the two circuits (a) and (b) below are equivalent by drawing truth tables for each circuit.

R
o

(a) (b)

Use Karnaugh maps to obtain minimised Boolean expressions for the following functions

X=AB+ ABC + ABC + ABC
Y=ABC + ABCD + ACD+ ACD + ABRCD

Use a Karnaugh map to obtain a minimized Boolean expression for the function described by the following truth table.

A
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N
&
O
)
N

et e == T == T == R == T e T e N - B e
—_—— e D D D D e e e e o S D

— e D D e e O D e e D D e e OO
Ll e B =R = e R e R = R
=Rl — I — R — R R R R

o

5. Explain the distinction between combinational and sequential logic.
6. Inan S-R bistable formed using two NOR gates, are the inputs active high or active low?

Paznean 4.

1. Whatphysiological signals can be measured with a smart watch or with a fitness monitoring device? Where are the
signals stored, and how can your privacy be protected?

List some advantages of computer modeling of physiological systems

List modern methods and devices used for visualization of human organs.

How to get a clear image of a moving target (cardiac imaging)?

Whattechnical devices help in the treatment of cardiovascular diseases?

AN SN

PaboTa B MaJsBIX Tpymmax

Task 1. Rectifiers
Description:
Students are randomly divided into 6 groups with the help of cards on which the function of the group (role) is
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Problem #1. Power Semiconductor Devices: Abbreviations and Symbols.

written. Each group has 5-7 minutes to be prepared to play its role in a game. After that game starts.

Roles:
Role 1.Give the circuit of bridge rectifier. Make notes on connection of elements in a circuit.

Role 2. Draw the diagrams of voltage drops across all elements of the rectifier. Give comments on the diagrams

shapes and time intervals.

Role 3: Write Voltage Kirchhoff’s law for one loop of the circuit. Specify it for different time intervals.

Role 4. Explain principle of operation of bridge rectifiers using materials presented by previous reporters.

Role 5. Compose three questions ortasks for given circuit.
Role 6. Answer the questions prepared by Group 5.

Fill in the Table 1 using the given meanings. Draw the symbol of power semiconductor devices and translate the device name

into Russian.

Table 1.
Ne Abbreviation Hectronic Name Meaning Russian Translation
symbol

L. Diode

2. LED

3. BJT

4. MOSFET

5. IGBT

6. SCR

7. GTO

8. SIT

9. SITH

10. TRIAC
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11. DIAC

12. MCT

13. RCT

14. LASCR

(LTT)
15. BOD
# Meanings

1 A semiconductor device that acts as a one-way valve for electrical current

2. A diode that conducts electrical current only after its breakover voltage has been reached momentarily.

3. A silicon controlled rectifier that conducts when the gate is exposed to light. The gate still operates as a normal
gate in a SCR, but is in many cases left disconnected.

4. A type of FET, most commonly fabricated by the controlled oxidation of silicon. The main advantage is that it
requires almost no input current to control the load current.

5. A special type of thyristor. It can be turned on by a gate signal, and can also be turned off by a gate signal of
negative polarity.

6. A type of transistorthat uses both electron and hole charge carriers. The basic function is to amplify current.

7. A three-terminal power semiconductordevice primarily used as an electronic switch that, as it was developed,
came to combine high efficiency and fast switching.

8. A three terminal electronic component that conducts current in either direction when triggered.

9. A semiconductor light source that emits light when current flows through it

10. A four-layer solid-state current-controlling device.

11. A thyristor with an integrated reverse diode, so it is not capable of reverse blocking. These devices are
advantageous where a reverse or freewheel diode must be used.

12. A gateless thyristor triggered by avalanche current

13. A high power, high frequency transistordevice. It is a vertical structure device with short multichannel.

14. A thyristor with a buried gate structure in which the gate electrodes are placed in n-base region.

15. A voltage-controlled fully controllable thyristor. It is similar in operation to GTO thyristors, but have voltage

controlled insulated gates.



http://en.wikipedia.org/wiki/Reverse_conducting_thyristor
http://en.wikipedia.org/wiki/LTT
http://en.wikipedia.org/wiki/Avalanche_diode

MeToanueckue YKa3aHud 1Mo nmpoueaype oucHuBaHUsA

OneHOYHBbIE MepPONpPHs THS

Ipoenypa mpoBegeHHs] OLNEHOYHOT 0 MEPONPUSATHS M HEOOXOIMMBbIE MeTOAWYECKHE YKA3aAHHS

TectupoBanue

TectupoBaHue npoBoMTcs OoHIaiiH. Tect pa3paboTan ¢ mpuMeHeHHeM Tyni-popM. Bpems nposenenus — 1 wac. Lems —
MpOBEpKa yCBOCHHS Y4eOHOro Matepuaa o npoiaeHHoi teme. OLeHHBaHUE MPOU3BOIUTCS MPEIOaBaTesieM Ha
OCHOBaHMH 0aJUTbHO-PEHTHHIOBOM CHCTEMBI OLCHHBAHUS PE3yJIHTATOB.

[IpesenTamus

BricTyIienue ¢ mpeseHTanuei mo oJHOH U3 MpeNIOKEHHBIX TeM MPOBOMUTCS B paMKax Mep ONPHITHI KOH(epeHII-He eI .
o 3aBepieHUM NpE3eHTALMU CIyLIaTeM MOTYT 3a/laBaTh BOIPOCHI BEICTYIAIOIIEMY, a TAKXKE NPUHUMATh y4yacTHE B
OLICHMBAHUU JO0KIana. WTorosble Oaiibl BHICTABISIOTCS MPENoJaBaTeIeM B COOTBETCTBUU C pa3pabOTaHHBIM pEUTUHT -
IJJAHOM JTUCIUILINHBL.

KonTtpomsHas pabota

KonTtponmpHas paboTa mpoBoaNTCcs MUCBMEHHO. Bpems mposenenus — 1 gac. Llems — mpoBepka ycBoeHUS yaeOHOTO
MaTepuala 1o nNpoiaeHHoi TeMe. KOHTponb oCyIecTBIAeTCss PErysIpHO Ha MPOTHKEHNU ceMecTpa. OlleHUBaHNE
MPOM3BOUTCS TIPEIOAaBaTesieM Ha OCHOBAHMU OaUIbHO-PEHTHHIOBOI CHCTEMBI OLICHUBAHUS PE3YJIHTATOB.

Pa6oTa B ManeIx rpynmax

CTyneHTsl MPOU3BOJIBHO IEITCS Ha rpymmsl 1o 2-3 yenoseka. C MOMOIIBIO KAPTOUEK ompenessieTcs: ¢pyHKuus (poiib)
TPYyNIBL. Y KaXAOH IPYMIBI €CTh 5-7 MHUHYT, YTOOBI MOATOTOBUTECS K cBoei pomu. [locne 3Toro HaunHaetcs padoTa.
OneHuBaHUE NPOU3BOJUTCS MPENOJABATENIEM, BO3MOXKHO B3aUMHOE OLICHUBAaHUE MEXKAY IPyIIIaMu.




